X | *1 |+ Tn
Py | Pq P, |1
. X
p=BX)=2p+2opyt - +Tnp,
. 1
1
. 1 X
X |1|2|3|4|5]6
IANRNAE
. X n==a
=1 £7=2, - £;,=6
PIZ%’ PEZ%’ : PBZ%
B(X) = Ixg+2xg+ - +6x¢
—4_35
. 35
2
. 5 1 X
x| o 1 2 3 4 5
0.4019 | 0.4019 | 0.1608 | 0.0322 | 0.0032 | 0.0001
. X n==a
=0, zq=1,--+ £g=5
p; =0.4018, p,=0.4019, - - -, p,=0.0001

E(X) = 0x0.4019+1x0.4019+42x0.16084+3x0.0322 44 x0.003245x0.0001

~ (.83
o 5 1 1




. x
. 21 1 1000
+ 1000 x 100
1 200,000,000 1 | 0.00001%
1 50,000,000 2 | 0.00002%
1 100,000 99 | 0.00099%
2 100,000,000 2 | 0.00002%
3 5,000,000 10 0.0001%
4 100,000 600 0.006%
5 10,000 10,000 0.1%
6 3,000 | 100,000 1%
7 300 | 1,000,000 10%
2010 1,000,000 100 0.001%
. x
E(X') = 200,000,000x0.00001%+50,000,000x0.00002%+- - -+300x10%+1,000,000x0.001%
= 141.99
. 1 300 1 141.99
e e

I1+$2+' " '+Iﬂ
== m

5]

1 1 1
= Ly XptIgXpt - TTpXy

[ ]
w3
-

Il
A
w3

b2

Il
A
Al

) ':pﬂ:

T = 2Py +8Pgt - +LnD,

= E(X)
. X
X[ T1| T2 Tp
P Pq Pa 1




o2=V(X) = (z;-p)2p,+(zg—p) ot - +(zn—p)’p,

= Zn:':ﬂ'_a“:'ﬁﬁ'

1=1
ol E(X)
. X
o=+ V(X)
° 2 cm cm”2
° 1 X
bl 1 2 3 4 5 6
111111y
] ] ] ] 4] 4]

02=V(X) = (1-3.5)*xt+(2-3.5)2xE+- - +(6-3.5)2x¢
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